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QUESTION 1

Which of the following OSPF versions is for IPv6?
A. OSPFvl

B. OSPFv2

C. OSPFv3

D. OSPFv4

Correct Answer: C

QUESTION 2

Which of the following statements are correct about TTL field in IP packet? (Choose two)

A. The maximum value of TTL is 65535
B. Normally, it\\'s impossible for a router to receive a packet whose TTL is zero.

C. The main purpose of TTL is to prevent IP packets from circulating endlessly in a network which can consume a lot of
bandwidth

D. TTL value will be decremented as a packet is passed through the network devices such as hub, LAN switch and
router.

Correct Answer: BC

QUESTION 3

As shown in the figure, all three switches run GVRP, create VLAN 10 and VLAN 20 on SWA and SWC,
and create them on SWB.

VLAN 10. SWB dynamically learned VLAN 20 from SWA and SWC through GVRP. If the port GO/0/1 on
the SWB is modified to be GVRP

In the Fixed mode, the following description is correct ().
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SVVA
GO GO0 GOvE GOrlZ

ERA EZNB E0C R0
WLAN 10 VILAN 20 VLAM 18 VLAN 20

A. Host A can continue to communicate with Host C.
B. Host B can continue to communicate with Host D
C. Hosts belonging to the same VLAN can continue to communicate
D. All hosts cannot communicate with any other host

Correct Answer: A

QUESTION 4

The ACL of the AR G3 series router supports two matching sequences: configuration order and automatic sorting.
A. Correct

B. Error

Correct Answer: A

QUESTION 5

In STP, the priority of the STP root switch ranges from 0 to 65536.
A. True

B. False

Correct Answer: A
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